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T %= 4 A PR B REM s T
i T 3% Bt KOG E AT —T H32—1
T H SF 24 3H 6 HD AF 3410 H 29 HET
45 o B 5 UK BREA D PEREE T )
= (6HRDABELE THOLEEE E | ERGXIHIIR D 4
w A 3 (M) T F fii #% (M) HEBMEYE (1)
eI S| 473,322,300 430,293,000 (A) 43,029,300
A& RE) 516,675,500 469,705,000 (B) 46,970,500
EHE & (2R H) 524,162,100 476,511,000 (B) 47,651,100
EFIE N ORN 459,800,000 418,000,000 (C) 41,800,000
g e SRS CYQUEINED 501,914,600 (F) 456,286,000 (D) 45,628,600 (E)
K &FE (2R H) 509,186,700 (F) 462,897,000 (D) 46,289,700 (E)
HAAE (1181 B) 42,114,600 38,286,000 3,828,600
HAEAE (2001 B) 7,272,100 6,611,000 661,100
HEHXD) BIXEO)+~A=D) . B)I)IXO)+~A=D) <XxXO DO )NEFTMHIED - FHILTEEET:
(D) X0.1=(E) . (D) x0.1=(E")
DOD+E=F . O)H+E)=F)




% W EHRPEREFGIEREISE No. 1
RETZEEHI REtEHEE e
= L P = 34 11 3 & 1ﬁ;i =
® H W= g B B s g B B e | FUHEER WE
[ERZAR %
I #ETHE = 249,705,007 = 252,502,273 2,797,266 HE%H
| s LEF =X 43,050,120 = 43,911,290 861,170 H4%E
ID| AR T2 Y 58,169,430 = 58,169,430 0
ERCERER ¢ 350,924,557 354,582,993 3,658,436 H4%A
SiSTE ey
[ FmiEks 2V 24,980,449 =y 25,694,111 713,662 HE%H
0| B5E e =X 44,965,373 = 46,779,504 1,814,131 #4%H
| —fEes = 48,834,898 = 49,454,508 619,610 H9%E
Fam 118,780,720 121,928,123 3,147,403 HE%E
EFF 469,705,277 476,511,116 6,805,839 HE%E
XA RE (L Hm k) SREEST 11U e 469,705,000 476,511,000 6,806,000 H4%E
THE RS %A 46,970,500 47,651,100 680,600 H4%E
WA (LFEE) 516,675,500 524,162,100 7,486,600 H%E




2 W EHRPEREFGIEREISE No. 2
RETEEAT RETERR et
® H "= g B B s g B B o | EUEEE WE
I |BETSE
Al [BVEEZE T 5 1 =X 15,395,929 1 XK 15,395,929 0
A2 | FREWETLSF 1 = 4,667,266 1 = 4,667,266 0
A3 |F=EH (1) tE T35 1 =X 127,570,851 1 XK 127,570,851 0
A4 |Z=EH (68 e T.5F 1 = 67,296,216 1 = 70,093,482 2,797,266 |Ha%H
A5 |FEs (248) tfE T3 1 =X 17,213,118 1 XK 17,213,118 0
A6 MR NZDOMM T 1 = 17,561,627 1 = 17,561,627 0
&t 249,705,007 252,502,273 2,797,266 HE%H




& EHRPEREFGIEREISE No. 3
REtEER RETEFR a3
® H L Y AT Yy g BE BE o | EUEEE WE
A4 |HBER () RETE
1 |Zess (o) s L R24F i 2V 39,012,881 = 39,012,881 0
2 st (64 dfiE TR R34EJE =Y 28,283,335 = 31,080,601 2,797,266 |Ha%E
Gt 67,296,216 70,093,482 2,797,266 HA%E




2 W EHRPEREFGIEREISE No. 4
RETEEAT RETEERE et
® H W= 8 EEr & s I T o | EUEEE WE
As-2 | EIR (61F) RETE RIFEE
1 |EERGETE 1 K 4,529,680 1 =X 4,529,680 0
2 |BhiK-EELHE 1 K 1,006,133 1 =K 1,006,133 0
3 |AhMEELE T E 1 K 2,791,266 1 =X 4,769,142 1,977,876 H4%H
4 |REHE-HTRTEH 1 = 776,884 1 = 776,884 0
5 |&RE-ETHE 1 =X 1,825,012 1 XK 1,825,012 0
6 |BiETEH 1 = 2,203,570 1 = 2,831,130 627,560 HE%E
7 |NEERLE 1 K 3,424,882 1 =X 3,559,602 134,720 HE%H
8 |z=yb e O ZFDfh T8 1 = 10,556,682 1 = 10,556,682 0
9 |-y 1 K 1,169,226 1 =X 1,226,336 57,110 H4%H
&t 28,283,335 31,080,601 2,797,266 HE%H




4 PR AL R R F A b T (R Gk I L 5) [RER] EE AL No. 1
g P 1 i £ X IVAN A T O - B |~ HAL Bl 4 B | AESDEEEE W B
0 |EXGE L
[Eh: ]
1 |EVHUHE LS 2V 2,960,880 =X 2,960,880 0
2 | FR=dELE =X 1,230,700 =X 1,230,700 0
3 |FERE (L) fs 5 =X 15,250,090 =X 15,250,090 0
4 |BER (68 s L9 =X 10,776,280 =X 11,637,450 | 861,170 IE@%E
5 [HEM (24800 ML giE L =X 3,050,890 =X 3,050,890 0
6 [fMEROZEOM T E20 9,781,280 X 9,781,280 0
Gl 43,050,120 43,911,290 861,170 ¥9%H




4 AL P R FE ks TR (R G I L) [HER] REMEE % (2[F1 H) No. 5
4 P il G2 OB B OB OME 0 4 B % & B B OMf 0 & B |ESIEBEE B
AR L
B (685) Y T
1 |FEATERR s L5 IE: 753,320 1 K 753,320 0
2 |FEAT ik T 1 K 6,484,330 1 K 6,484,330 0
3 |kl T IRE: 827,520 1 K 827,520 0
4 [HEPIE ERoEAE R i L - 54,300 1 K 54,300 0
5  |FEF RGN L5 1 K 830,500 1 K 990,180 | 159,680 4%H
6 BB SREER A L5 - 997,210 1 K 997,210 0
7 |MENECEMREE T 1 K 517,940 1 K 517,940 0
8 MM - 1TV i L I: 311,160 1 K 311,160 0
9 |EESLETE 1 =X 0 1 X 701,490 | 701,490 3%HE
& @ 10,776,280 11,637,450 | 861,170 %A




